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Problems on Trains Questions for Bank and Insurance Exams.

Direction: Read the following questions carefully and choose the right answer.

1.

Ajay walked 12 km to reach the station from his house. Then he boarded in a train and
reached his destination. The average speed of the entire journey was 62 kmph and he
took a total time of 6 hours. If the average speed of train was 120 kmph, then what is
the ratio of walking speed of Ajay to the speed of train?

A.1:30 B.1:60 C.2:35 D.2:65 E. None of these

2.

In a train, there are three coaches numbered 1 to 3. In the 1st coach the chairs are
numbered 101 to 130, in the 2nd coach the chairs are numbered 201 to 220 and in the
3rd coach the chairs are numbered 301 to 330. The chair occupancy was 50% in 1st
coach, 80% in the 2nd coach and 40% in the 3rd coach. The chairs charges are Rs.200,
Rs.150 and Rs.300 in each of the coach respectively. Then find the average income per
chair in the train?

A.Rs.112.5 B.Rs. 217.4 C.Rs. 128.5 D.Rs.231.4 E. None of these

3.

A.95

A.121:

Shatabdi Express has a capacity of 600 seats out of which 15% is in the Special VIP
class, rest being VIP class seats. During its journey the train was booked to 80% of its
full capacity. If Special VIP class was booked to 70% of its capacity, how many VIP class
seats were empty during that journey?

B. 88 C.93 D. 82 E. 75

Train ‘A’ of length 300m cross another train ‘B’ of length 200m which is approaching towards
‘A’ with speed 56km/hr. Train ‘A’ crosses a car travelling in the same direction as that of the
train A and speed of car is 45km/hr. Find the ratio of the time taken by Train ‘A’ to cross the
car to the time taken by Train ‘A’ to cross Train ‘B’ if the speed of Train ‘A’ is 66 km/hr.

35 B.35:123 C.122:35 D.125:33 E. 127 :45

A toy train moves at a fixed speed on a plane surface. It starts from the top of an inclined
plane and reaches the bottom in 3 hrs and again moves upwards for 3 hrs but falls ‘Y’ km
short of the starting point. In the whole 6 hours the toy train travels a total of 12 km. Due to
inclination of the plane train gains 1km/h speed in decline and loses same speed in incline.
Find the extra time required by the toy train to climb up the remaining ‘Y’ km and reach the
starting point.

A. 04 hrs B. 10 hrs C. 06 hrs D. 8.5 hrs E. None of these




6. At 3 PM, train A was 65 km behind train B and running with speed twice of train B.
There was another train C which was 265 km apart from train A running opposite to
both trains with speed of 40 km/hr. Train A decided to overtake train B and increased
its speed by 5 km/hr and overtook train B in one hour. At what time would train B and
train C meet each other?

A.5:45PM B.5:30PM C.5:00PM D.6:00PM E.4:30PM

1. A 180 meters long passenger train crosses a 360 meters long express train running in
the opposite direction in 12 seconds. If the ratio of the speed of the passenger train to
that of express train is 1 : 4 then find the speed of the express train?

A. 45 meters per second B. 36 meters per second C. 40 meters per second
D. 22.5 meters per second E. None of these
8. The numerical value of the speed of the train is three more than twice of the time

taken by the train to cover 495 km. What is the respective ratio of the numerical value
of the time taken by train to cover 825 km and the speed of the train?

A.7:5 B.2:3 C.25:33 D.9:7 E.6:5

9. Train A completely crosses train B which is 300 m long in 15 seconds. If they are
travelling in the same direction and the difference of speed of both the trains is
30m/s, then find the difference between the lengths of trains.

A.170 m B.150 m C.195m D.50m E.40m

10. Two trains running at 54 kmph and 48 kmph cross each other in 12 seconds when they
run in opposite directions. When they run in the same direction, a person in the faster
train observes that he crossed the other train in 32 seconds. What is the time taken by
train having speed 48 kmph to cross a platform of double of its length?

A. 14.50 seconds B. 20.54 seconds C. 17 seconds D. 25 seconds E. None of these

11. Train A has a speed of 50 kmph and starts from Delhi towards Dehradun.Train B has a
speed of 60 kmph and travels from Dehradun towards Delhi. Distance between Delhi
and Dehradun is 600 km. If Train B starts 1 hour after Train A, what is distance
between Dehradun and the meeting point of both the trains?

A. 200 km B. 250 km C. 350 km D. 300 km E. None of these




12. Train A and Train B are moving in the same direction. Anshu is walking inside Train A
in the direction of movement of the train at the speed of 4km/h. Shiva is walking
inside Train B in the direction opposite to the movement of the train at 7 kmph. The
relative speed of Anshu and Shiva with respect to each other is 6 kmph. What is speed
of the train B if speed of train A is 40kmph?

A. 47 kmph B. 50 kmph C. 45 kmph D. 40 kmph E. None of these

13. A train of length 240 m is running at a speed of 72 km/hr. In how much time will it
cover a 480 m long tunnel?

A. 36 sec B. 30 sec C. 28 sec D. 42 sec E. None of these

14. A train running 9/23 of its own speed reached a place 35 hour late. Find the speed of
the train in km/hr?

A.22.5 km/hr B. 35 km/hr C. 45 km/hr D.17.5 km/hr E. Can't be determined

15. At 9: 00 PM Rajdhani express leaves Delhi for Patna at the rate of 96 km/hr. At 11: 00
PM on the same day Shatabdi express leaves Patna for Delhi at the rate of 49 km/hr.
At what time both the train will collide? (it is given that the distance between Delhi
and Patna is 540 km and both the trains are running on the same track)

A.01: 24 AM B.02: 30 AM C.00: 48 AM D. 01:48 AM E. None of these

16. Two trains leave station P at 5 : 30 pm and at 7 : 00 pm respectively. They travelled at
48 km/h and 60 km/h. How many Kilometres away will the two trains meet?

A. 240 km B. 280 km C.320 km D. 360 km E. None of these

17. A train can cross another train of equal length coming from the opposite direction
with the speed of 108 km/h in 3 minutes. The speed of the other train is 90 km/h. Find
the length of the train.

A.5940 m B. 5490 m C.4950m D. 4590 m E. None of these
18. Two trains are running on parallel lines in the same direction at speeds of 60 km/h and
35 km/h respectively. The faster train crosses a man inside the slower train in 54

seconds. If the length of the slower train is 4/5" of the faster train, find the length of
the slower train.

A. 250m B.375m C. 450m D. 396m E. None of these




19. A train can cross a platform of equal length in 50 seconds. It can cross another
platform of length 450 m in 1 minute. Find the length of the train.

A.321.42 m B.131.42 m C.421.42m D.381.42 m E. None of these

20. The length of Train18 is half of the length of Train19 and is running at a speed of 90
km/h in the opposite direction. Train19 running at 126 km/h completely crosses
Trainl8 in 9 seconds. Train19 takes seconds to cross a platform of length 550
metres.

A. 36 B. 32 C.28 D. 26 E. 22

21. A bullet train D which is 320 metres long is moving with an average speed of 120 km/h
crosses a bridge in 24 seconds. A farmer walking in the field crosses the same bridge in
4 minutes. Determine the speed of the farmer in m/sec?

A. 1.87 B.1.1 C.15 D. Can't be determined E. None of these

22. Two trains A, and B of same length start from Chennai for Bangalore at 10:00 pm.
After travelling for 50% of the total distance train A meets with an accident and starta
travelling at the rate of 2/3rd of its original speed. In this way, both the traina reach
Bangalore at 08:00 am. Find the ratio of their original speed?

A.3:2 B.5:3 C.5:2 D.5:4 E. Can't be determined

23. Two trains are running in same direction at speed of 72 km/h and 102 km/h, their
lengths are 550 m and 350 m respectively. What is the time taken (in seconds) by
faster train to cross the slower train?

A. 114 B. 96 C.90 D. 108 E. 102

24. Train 1 crosses Train 2, which is coming on parallel track from opposite side, in 10
seconds . One of the trains has speed 90kmph. The speed of one of the train is 25%
more than the other train such that both the speeds are in integer form, and the
difference between their length is 150 meters. If the speed of Train 1 is greater than
the speed of Train 2, then which of the following statements is correct ?

A. Length of Train 1is 150 m B. Length of Train 2 is 150 m
C. Sum of Length of both the Trains is 300 m D. Length of one train is twice the other
E.More than one option are correct.
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25. Time taken by train A and train B to cross each other while going in the same direction
and opposite direction is 75 seconds and 15 seconds respectively. The ratio of length
of train B to that of train A is same as the ratio of speed of train B to the speed of train
A. Find the average of time taken by train A to completely pass through a tunnel of
twice its length and train B to pass through a tunnel of twice its length if train A is
shorter than train B by 120 meters.

A. 16 seconds B. 24 seconds C. 30 seconds D. 45 seconds E. 60 seconds

26. In a 2 km race, when Bantu starts 100 m ahead of his brother Gattu, both complete
the race at the same time. In a 3 km race if Gattu starts 100 m ahead of Bantu, then
both finish the race in the same time. If Gattu runs both the races with the same
speed, in approximately what ratio must Bantu have increased his speed in the second
race?

A.E B.E C.E D.E E. s
12 10 15 11 13
27. A train running at an average speed of 60 km/hr covers 240 km until it reaches its first
stoppage where it stops for ‘x’ minutes. After stopping for ‘x’ minutes the train covers
the remaining distance at an average speed of 80 km/hr until it reaches its destination
and the total time taken by the train to cover its entire distance is 8 hours 54 minutes.
Had the remaining distance been covered by the train at a speed which increases by
10 km/hr every hour starting with 40 km/hr then the remaining distance would have
been covered in 53/9 hours, then find the value of ‘X’

A.6 B.12 C.7 D. 8 E. None of these

28. Two trains start simultaneously from two stations Mumbai and Hyderabad towards
each other respectively. The first train covers 16% of the distance between the two
stations in 6 hours, the second train covered 14/120 of the distance in 5 hours. Find
the speed (miles/h) of the second train if the first train travelled 1600 miles to the
meeting point.

A. 80.625 miles/h B. 72.25 miles/h C. 70 miles/h D. 60 miles/h E. 80 miles/h
29. A train travelling at 73 kmph crosses another train of length equivalent to two — thirds

of its own length travelling in opposite direction at 53 kmph in 18 seconds. It crosses a
bridge in 36 seconds. What is the length of the bridge ? (in m)

A.352m B. 482 m C.362m D.472 m E. None of these




30. Train M starts from station P at 3 pm and moves towards station Q with the speed of
36km/h and train N starts from station Q at 6 pm and moves towards station P with
the speed of 48 km/h. They meet each other at 9 pm. Find the total distance travelled
by both the trains together to reach their respective destinations.

A. 720 km B. 360 km C. 540 km D. 960 km E. None of these

31. A train Pawan express of length 380 m running with the speed of 108 km/h crosses a
platform of certain length in 37 seconds. Another train, Toofan express of certain
length running with a speed of 90 km/h crosses the platform in 42.6 seconds. What
will be the time taken by both trains to cross each other if they run in opposite
directions.

A. 12 seconds B. 10 seconds C. 9 seconds D. 14 seconds E. 13 seconds

32. A train crosses a bridge and a platform of length 500m and 800 m in 20sec and 30sec
respectively. Find the time taken by this train to cross another stationary train of
length 80m.

A. 5 seconds B. 4 seconds C. 3 seconds D. 6 seconds E. 8 seconds

33. It takes 48 seconds for a train travelling at 63 km/hr to cross another train half of its
length tavelling in opposite direction at 51 km/hr. The first train passes a bridge in 66
seconds. What is the approximate length of the bridge (in m)?

A. 154 m B.142 m C.160m D.184 m E.175m

34. Two trains A and B, start from stations X and Y respectively and travel towards each
other. A and B take 196 minutes and 144 minutes respectively to reach Y and X
respectively after they meet. If train A is moving at 36 km/hr, then what is the speed
of train B?

A. 24 km/hr B. 48 km/hr C. 42 km/hr D. 54 km/hr E. 60 km/hr

35. A 300 m long train crosses a pole in 8 seconds. The same train crosses a man running
in the same direction in 10 seconds. What will be the speed of man?

A.10.2 m/s B.7.5m/s C.12.5m/s D.9.25m/s E.11.5m/s

36. Train A crosses a pole and a platform in 25 sec and 46 sec respectively. The length of

the platform is 168 m. What will be the length of train B, if its length is equal to the
sum of half the length of train A and twice the length of the platform?

A.436m B.336m C.426m D.355m E.424 m




37. A 560 m long train, travelling at a uniform speed, crosses a platform in 60 seconds and
a man standing on the platform in 10 seconds. What is the length of the platform?

A. 2800 m B. 5600 m C.4800m D. 2600 m E. 2900 m

38. A train passes two platforms of length 1200 metres and 600 metres in 200 seconds
and 120 seconds respectively. What is the length of the train if the speed is equal
while crossing both platforms?

A.120m B.150 m C.180m D.300 m E.225m

39. A train can cross another train of equal length coming from the opposite direction
with the speed of 108 km/h in 3 minutes. The speed of the other train is 90 km/h. Find
the length of the train.

A.5940 m B. 5490 m C. 4950 m D. 4590 m E. None of these

40. A train can cross a platform of equal length in 5 minutes. It can cross a man running in
the direction of the train with the speed of 2m/s in 7 minutes. Find the speed of the
train(in km/h).

A.10.8 B. 25 C.7 D.11.2 E. None of these

41. Train A starts from station P at 3 pm and moves towards station Q with the speed of
108km/h. Train B starts from station Q at 5 pm and moves towards station P with the
speed of 122 km/h. If the distance between station P and station Q is 1136 km. Find
the distance between meeting point and station A.

A. 864 km B. 846 km C. 648 km D. 684 km E. None of these
42. A train can cross another train of length 560 m coming from the opposite direction

with the speed of 20 m/s in 30 seconds. It can cross a platform having length equal to
the length of the train in 1 minute 20 seconds. Find the length of train.

A.150 m B.130m C.145m D. 160 m E. None of these

43. A train with speed 32 m/s can cross another train of length 540 meters coming from
the opposite direction with the speed of 48 m/s in 15 seconds. It can cross a platform
in 25 seconds. Find the length of the platform.

A.140 m B. 180 m C.260 m D.320m E. None of these
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44. A train of length 450 m running at the speed of 72 km/h can cross another train
running at the speed of 54 km/h in the same direction in 4 minutes. Find the length of
another train.

A.620 m B. 750 m C.480 m D.540 m E. None of these

45. Two train starts at the same time from Kanpur and Jammu and proceed towards each
other. When they meet it is found that one train has travelled 150 km more than the
other train. What is the distance between Kanpur and Jammu, if the speed of 1* train
is 80 km/h and that of 2" train is 75 km/h?

A. 5640 km B. 5460 km C. 4560 km D. 4650 km E. None of these

46. When the trains run in opposite direction, the relative speed is double the relative
speed when the trains run in the same direction. The length of the trains is 300 m and
320 m respectively. Find the time taken by the trains to cross each other when in
opposite direction, if they take 20 seconds to cross when in the same direction?

A. 8 sec B. 6 sec C.7 sec D. 9 sec E. 10 sec

47. A train of length 500 m crosses a platform of length 50% more than the length of the
train in 50 seconds. Find the time taken by this train to cross another train of same
length running with double the speed of first train in the opposite direction.

1 1 1
A. 13 sec B. 15 E sec C.13 E sec D. 13 5 sec E. 14 sec

48. 512 passengers get into a train at the first station. At every subsequent station half
the passengers get down and no passengers get in. If only one passenger is left in the
train to get down at the last station, at how many stations did the train stop in
between the source and destination station?

A. 10 B.8 C.9 D.7 E. None of these

49. The length of two train is 120 m each. The ratio of time taken by them to cross a pole
is 2: 3 and the difference of time taken by them to cross the pole is one minute. Find
the time taken by them (in seconds) to cross each other travelling in opposite
direction?

A. 150 sec B. 36 sec C. 144 sec D. 96 sec E. None of these

50. Two trains, P and Q of equal length are running in the opposite direction. The time
taken by them to pass an electric pole is 24 seconds and 30 seconds respectively. Find

the time (approximately) in which both trains will cross each other?
A. 26.67 seconds B. 26.33 seconds C. 27.67 seconds D. 26.33 seconds E. 25.33 seconds




1. 30T 399 R & 12 el gerey T g Y 98 ¢ A Fel 3R 39 aed ah
ggaT| Q¥ AT A AT AT 62 AT & AR 3/ el 6 T | TG ¢ Hr AT A
120fal/erer A Y 3o & Tl T A qUT ¢eT I AT T AT FTAS

A.1:30 B.1:60 C.2:35 D. 2 : 65 E. 598 & 15 g1

2. THEAH 1Y 3T N F g dgd BT F FEG A @ 101 & 130 Th 8, g
P 7 HRAA A A 201 F 220 G & I AW FT A FRAAT H DA 301 @ 330
o B UEd @ra H HAl HRHIET 50%, qEY B H 80% AU R FrT A 40% B TAh
S #H HRAAT F1 Yooh AW 200, 150 3R 300 &9 8| o ¢of & 9fd et iad 3mg
AT e

A. % 1125 B. % 2174 C. % 1285 D. % 2314 E. 587 & HI gl

3. AT TEEY" H 600 Hier T &7Hdr §, ad & 15% Special VIP class & &, sThr VIP
class &1 W §| HHN AT &F NI &7 T qUT &TACT & 80% oeh I fahar arr ar| Iy
Special VIP class #I S8l &T#dl HT 70% geh fohar am a1, of SHl IrEr & ek Tt
VIP class @T Hic @reir 2Ai?

A. 95 B. 88 C. 93 D. 82 E. 75

4. ¢ A # oErs 300 HiT, qE{ ¢ ‘B HT diwTg 200 HeX § ST 56 T / wer @ afd § A
$r 3R 3T W gl ¢oT A" 38T fEem H Imar FIA el FR Al IR Rl ¢ o d feem 7 ¢ A
ToIdl & 3R FR i 1T 45 FeY / geT &1 T A’ FR F G- e H 9 arel FHT 3R ¢oF
‘A" ¢ 'B' A UR # H o dldl @RI & AT AT A IfG A A B oarfa 66
fretiaer g

A. 121 : 35 B. 35 : 123 C. 122 : 35 D. 125 : 33 E. 127 : 45

5. TH T A U HAA TAg R Teh AREA a1l & TeAh &1 T& Toh g ared FAASA & FH
T A i 3R T Qﬁ*{dﬁ%ﬁ?S%ﬁ?ﬁﬁﬁ@W%Sﬂ?ﬁﬂSdﬁ%ﬁvw
T AR T ¢ Afder e g @ Y el ugel &6 Sl §1 Q@ 6 € A T & T 12
el &1 T T A Bl A g & Fhd & HROT ¢of A S AT aAfd H A
fopell/EreT T o UTed LT § 3R FIW Ia AT sda 1 & g1 uread axdr &1 A9 'Y’ Ry
T HA H AR LRI g T TgTel & T i ¢ qarr aeIsd RS FHG Hoaar
ST |

A. 04 goue B. 10 gu¢ C. 06 TUe D. 8.5 gu¢ E. 348 ¥ FIg 151




6. 3ES 3 9, & A & B & 65 Tl I IR A B T gumell a1 @ TS W@ A T 3y
¢ C oY S ¢ A & 265 ot qr oY 3ik Qf ¢oit & faodia 40 frefi/ger &1 aify @ @ W
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¢ H T B &I 3eieesh X Tl fhd @7 B 3R &7 C T gal & Al

A. 5 : 45 PM B. 5: 30 PM C.5:00 PM D. 6 : 00 PM E. 4 :30 PM
7. T 180 HleX ot YR A 12 AFs & fudiad fEem & o= arelr 360 #Hex ot vFaug
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A.7:5 B.2:3 C. 25: 33 D.9:7 E.6:5

9. ¢TA 15 8F3 A U aE & 300 HAeX el ¢ B &I UR &l gl IfG F wah & fer 7
X @ & 3R ar ¢t ST I &1 3R 30 Hey/AHhs §, dr <ol H dds & & Hl Fa A
H|

A. 170 #Hiex B. 150 #Hrex C. 195 #Hiex D. 50 #HrexX E. 40 #ex

10. 54 et gfa g 3R 48 fFelt 9fd & i AR & Tola arell ar of TAUa feemat & oy W)
12 @& H Th-ga & IR & Sl 81 519 3 T & fqem & gaa & aF da1 &7 & o =afad
eEdr § f& 38 32 Whs & g@dl ¢f 9R & off g1 48 falt ufd der & <efet arell &1 qam
3HH SETg & G CACHIA Bl IR A H fohelell FHI ofarell §72

A. 1450 Qs B. 20.54 Qs C. 17 ks D. 25 ¥she E. 578 @ #Is 87|

11. 2 A & 71fd 50 et 9fd wer & 3R feoell & Sgget 1 3R STl §1 2o B T a1f 60 foredT gt
Her § 3N Satiget & feol & 3N e 81 feoelr 3R giger & o & g 600 famadr &1 afg 2o
B¢ Adh 18§l dofell Y& HIch &, dl Seieel AR &l ¢ail & elet foig & o & g &ar
g7

A. 200 TRaT B. 250 fhaT C. 350 faT D. 300 forefT E. 348 ¥ FIg 151




12. ¢ A 3R ¢ B T & faom & 3mY a¢ W 81 3 4 forel/eer & aifa @ g1 v arfd v feem
H T A & 31T o W &l Ra 7 el ufaq g $r afa & 2 7 a1fd & /Al Gemr § ¢ B
& 3HeY I T gl Y AR R HT v gy & Fay # @t afa 6 et ufay ger g1 i &
A & 1fa 40 fral ufd ger & ar ¢ B & afa @am &7

A. 47 fRetger B. 50 fral/@er  C. 45 fral/ger D, 40 fhdl/ger  E. SaH & FIS 18T

13. 240 Hex da© H TH T 72 FAY / Ger HF AR F I W g1 af 38 480 Hex el
T & GR A A et FAT waren?

A. 36 Q53 B. 30 93 C. 28 Q&3 D. 42 Qs E. 398 & g arl

14, U (eETSY 39N I F 9/23 ¥ Ter fRAT T W 35 € G & ugach §| Yemsr
afa (Rrefi/erer &) sdasu?

A. 22.5 frd/ger B. 35 fosi/ger C. 45 fra/ger D. 17.5 ferei/aer
E. fenRa & Far s @epar

15. T 9:00 I TS vFEYE 96 frHEl/Eer HI AR & ool ¥ Ul Fr 3R I@ET 8 &
38T o T 11:00 g7 erdred Taoyg 49 fhal/ger fr IWaR T gear & ooy T 3R @&
gict B ford &R gt &of 3maw A fAeRh 2 (fGar @ fF oo 3R wear & mew g 540
fohalt 3R el &7 T & 9Y W TS W )

A. 01: 24 AM B. 02: 30 AM C. 00: 48 AM D. 01: 48 AM E. 398 & g g1

16. ar e AT P A 5 : 30 o 3T 7 : 00 9o TUT B3 &1 Iegir 48 fral/ger 31K 60
fepai/erer & arar 1| Qe T el fahelleiey gy fAelan?
A. 240 fetr B. 280 fra C. 320 el D. 360 farelY E. 508 & ®Is 18T

17. we ¢ Aol fGem & 3= arell HAT ofFaTs &l gadl eof &l 108 foheAl/erer i a1fd & 3
e &F 9R T AT §|37eT T dr afa 90 fhall/ger & |8 & a1 adrsy|

A. 5940 #Hr B. 5490 #Y C. 4950 #r D. 4590 #HY E. 398 & g darl
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18. ar & HaAw: 60 frel/aer 3R 35 Fal/ger fr a1fd & gaA G2m & AR gl o I
W &l s A 54 Ths #H o6l aifad & Toe arell ¢ & 3ieT TS EHT FHl UR aar &l
gie el ¢oT T oS oot ¢oT T 4/5 I[N 8, o el o & FaTS @ T S|

A. 250 #r B. 375 #r C. 450 #r D. 396 #r E. 398 & g sl

19. Ts ¢ 50 %5 H N o5 & TAchH Hl IR = ol &l I§ 1 Bae & 450 Aex
ST & GEY Telch @l R Y Hehcll gl o I olars AT HTST]

A. 321.42 #r B. 131.42 #r C. 421.42 #r D. 381.42 #r E. 348 & FIs g1

20. o H@AHT gFY, gfda 3R AT A1 Al w0 & v Aged & S g1 3wga v
ATy ARl Y& T Aot AT o 3 foeT & o Al oI5 & 59 37% wAtendr & bt |
AV At @ TFg AR gfas & 7 e # qu fhan gra 3 gfda & efddr @ e 4
5§l Ta0 O afd & F1H F aTel P Hehel P HIA F QU A & [0 st &l @r
TITHT 872

A. 36 B. 32 C. 28 D. 26 E. 22

21. wH gl ¢ D 320 #Hiex ofe § 3R 120 frefi/eer &1 3itaa aifd & @y 24 dhs & wh
Jel & UR HAl g1 WA H Tolel dTell fohdlleT 38 T 1 4 fAdAC & IR I g1 fharT
afa &1 feRor Hex/Ashs 7 FI?

A. 1.87 B. 1.1 C. 15 D. fFuRa a8 forar S gepan|
E. 37 & HI5 Asfl

22. Joofs ¥ AR & fAT AT 10:00 97 FAH ofa$ H 2 A A AR B ol Y& g g
Tl gl HT 50% TT Fel & d1G ¢oT A & T Teh GHEAT 81 IS 3R 9=l el a1y & 2/3
AT & Tolell & A &l 38 O ¥ Al ¢of Fog 08:00 Fof HTAX qgaeh &l 3o 7
I T I AT Ffere?

A . 3:2 B.5:3 C.5:2 D.5:4
E. eRa =&l f~ar a1 geharl
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23. cr e 72 e / ger 3R 102 P / ger Y afa & v & wr H T W &, 3T T
AT 550 FeT 3R 350 M §l ol ¢f A UGN #el & fv dF ¢oT Ganr (s #H)
fohdar &g foram Srar g7

A 114 B. 96 C. 90 D. 108 E. 102

24, ¢ 1, ST 2 A 10 Whs H IR Xl ¢ 3R ¢of 2, [Auda feem & AR ¢ W 37 @
gl ¢l & & T AT afd 90 e Ui "er g1 U o # Al 3 e H Jollr H 25%
Hew §, o T gt aifd qut &9 A §, 3R A dare & & F HR 150 HieX g1 IS
¢t 1 &1 aifad ¢ 2 fr aifd & 18 §, O Reafaf@ad # @ Sl a1 w3 F&r 872

A. &I 1 Fr des 150 FAex & B. ¢oT 2 #T oiais 150 HieT &
C. Q=T ot & &arS & Ay 300 MY & D. TH oA T olars g@dl of I o &1 ar N &
E. T ¥ 30 TFeq Tgr gl

25. T A 3R ¢ B garT Uk & fam A 3R IR Audd fEr A Sd #HT T gl A UR
A H O I=—r g7 FHA: 75 s 34X 15 @hs &1 ¢ B Fir ders 34X e A Fr de 15
T T o B &1 a1fdl 3R &7 A 1 a1fd & 3req9Td & §A ¢l ¢f A GERI SHT olals
T & I NS A FET F ol W AT AT FHI HR ¢ A @RI SEH oars B
e SIS I TN @ IoRa W fodr a1 FAT 7 36d A A e ¢of A, &7 B & 120
Hrex BT gl

A. 16 T%hs B. 24 d%s C. 30 @3 D. 45 @3 E. 60 33

26. 2 felr 1 &l A, ST 9¢ IS Ag T F 100 HIX I fAhel ST &, Al Th g FTHT
A als 7 A &1 3 fohell T gls 7 3R a1 9 & 100 #FeX 3 fAherdr g, dF at U
& wHg A als qf aa €1 PR a1g Al als Uw & A1fd @ welren &, o §¢ o @l als A
forer 3reqara 7 3roel afad aers gl

13 12 12 15
A — B. — C. = D. — E. —
12 10 15 11 13
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27. 60 ferdi/eer $r 3 afd @ Tefe arell g7 240 foheAl & gl dF Xl § oI deh o Ig
391 Jgel SgUd T gl Tgd S § Sfel Iy X' A & AU o g1 X fAee & fav
Toel & A6 ¢of AV g @ 80 freveEer @ ad afd & a7 wr § 9 a% F a5 3=
AT T AT Tgd Sl § AR &1 @R A=A I gl 1 T Fe & fow o 7= g
AT 8 "¢ 54 fAsc ¥ I ¢ 40 fhef/oe @ wolem Y& Fcr & 3R 10 fwrefjoe @
39el aIfd Jerdh § 3R A9 gl A aF A g, o AW gl 53/9 6 A ¥ gl Sl oY, or
'X' &I AT AT HY

A. 6 B. 12 C.7 D. 8 E. 398 & g arl

28. &) ¢ol AWM TH WY a1 WA FHGg iR geele F Th-g@ T IR Tl Y& Fo &
Ugell ¢l 6 ©S I el TG & &I 16% HT g aF ALl §, q@l ¢of 5 6 H 14/120
ol ¥ FA B gEdr ¢ i Afd (Fei/Eer) F gdr oene ARG ggel ¢t 1600 Hrel Fr gl
d% 3% A arel T d& Srdr g

A. 80.625 #iei/der B. 72.25 Hiel/gier C. 70 #Hiel/gier  D. 60 #Hret/gier  E. 80 #Hrew/eer
29. 73 Y 9id €S AT AfT @ el ATl ¢oT YT ofals ol &l fIgls ofdls & seX & Uh

o 3T A 18 D F TR A ¥ AR gEd T 53 el wfy B S B Ay Rl R
3 T T ¥ gl &7 36 Webs A U G H G A &1 G ¥ oS 2w 32 (e )

A. 352 #r B. 482 #r C. 362 = D. 472 = E. 395 & g arl

30. ¢ M, T P & A 3 o TAA Y& Fchl § 3R 36 ThaAvEe @ Afd & T Q
3R Focdl § 3R &7 N, R Q & AH 6 ToT Felell Y& Hcl ¢ AR 48 fradi/ee dr arfa
TR P H AR Tl 81 9 TT 9 &9 Th g & fAerch g1 Sl ¢oll garT 3H9=1-319a1
qcHl T TEd H T B IS Fel gl AT H

A. 720 Ty B. 360 T C. 540 f&sr D. 960 forsY E. 395 & g dall

31. 108 fehei/der &I IFAR @ Tolel alell 380 HeX oalg HT ¢oT Uael THFEUH 37 Yhs H F©
S & TACHIH H IR FA Tl Th q@Ed &, 90 frdvEer & afy @ wew arehl Fo
e T B TFENH 42.6 @F3 H TolcHA H UX F gl AfE I fAedd st A
Tolcll § dl Gl ol GanT Teh-gaY &l IR &l #H fohclell FAT or@taT|

A. 12 O3 B. 10 O&s C. 9 d%s D. 14 O3 E. 13 @3




32. TH A HAA: 20 Ghs R 30 Ghs H Teh oI 3R Teh Tolehr#d SaTehl ofarg A 500 #Hlex
3T 800 Aex § A IR FLdr §1 80 Her Fas Y U 3N R 2T F IR = & Ow 59
¢l GaRT fAT AT FHY H g1 M|

A. 5 a%3 B. 4 @&s C. 3 9%s D. 6 s E. 8 @%s
33. 63 farAl/Eer T Afd § Tolel dTell oT I TeA ofdlS & MY HET & SET oS Tl gAY ool

fSreehr atfr 51 fhafi/eier & @ IR & & 48 Wohs o1 g1 Tgell ST 66 Aehs H Teh Yol
IR A &1 ol F g wars (Fiex H) w7 2

A. 154 #rex B. 142 A C. 160 #Hrex D. 184 #Hiex E. 175 #AX
34. ar ¢l A R B, HAT: TG X AR Y @ T YE A § AR TH @y A 3N Sl &1 A

3ﬂ¢Baﬁﬁaﬁ¢ma¢mr:Y3ﬂ:Xa¢q§aﬁ%%¢a¢mr: 196 fAae 3R 144 fAae
T g1 IS ST A 36 Tohef/aer &7 aifa & aor WY &, af ¢ B &1 aifd a7 g7

A. 24 frei/ger B. 48 fefl/ger . C. 42 fpd/ger D. 54 fesfi/ger E. 60 forel/ger

35. 300 HeX ol ¢oT 8 ohs H Th T I IR HlaT gl JoT & 10 Vhs & 38 faem & =oar
arel SIfFd & UR Fr g1 afFa &1 afa &1 gef?

A. 10.2 Aex/@%s B. 7.5 Aecydqshs C. 12.5 HAey/Ashs D. 9.25 Aey/Ahs E. 11.5 Aey/Ashs

36. A A HHA: 25 TH3 3T 46 TAHs H T G 3R TH TATHhiH IR FLdl &1 Toehied I des
168 #Hex &1 A B & wlars FAr g9, Ife 3wy des e A &y 3mel ders 3R colewid fir
TS & GRS & AT & S 57

A. 436 Aiex B. 336 #leX C. 426 Hiex D. 355 #Hiex E. 424 A

37. W5603ﬂaa€raﬁ,wwvﬁﬁwm§m6omﬁw@tﬁ IR AT &
3T T A A 10 Vhs H ST TATHIH W TT &1 THTHIH T 1S AT &2

A. 2800 Hrex B. 5600 #ex C. 4800 #ex D. 2600 #Hrex E. 2900 #ex

38. UE ¢ HAM: 200 s 3R 120 A%z F 1200 HeT 31 600 HeT d9S F o TlehiH I
IR &1 Ife Sl CCHhIA! I IR X AT I FAT g dl T Sl olaTg T §7?

A. 120 #Hex B. 150 #ex C. 180 #Hiex D. 300 #Hex E. 225 #iex




39. TH ¢ AUl fEAT { e ATell WA FaIS i q@dl ¢of 108 fhef/eer v aifa & 3
e & 9R T AT §|37eT ST dr afa 90 fFal/ger & | oF & a1 qdsy]|

A. 5940 T B. 5490 #r C. 4950 #r D. 4590 #r E. 48 & FI$ g1

40. TH ¢ 5 Acdc # IR a8 & TICHH H IR Hldl gl &7 7 Beie &§ 2 Aey/Ashs f
afd & ¢oT dr T FH TS W[ TH IEHT H IR FA gl oA foarfd (Fwer /o der A) A
AT FA?

A. 10.8 B. 25 C.7 D. 11.2 E. 398 & g sl

41. T A, VUA P @ GUgT 3 do dolell Y& gl & 3R 108 fohef/eer dr Iwdr & weee Q &
3 Foclt 81 ST B H 5 99 T Q & TekAT Y& gl § 3R 122 108 fohadi/erer & IFdR
¥ T P &1 AR dodl g1 TG T P 3R AT Q & o &1 gl 1136 el g1 3o
Bree arer g 3k ®ea A & @9 1 g8 7 Ff

A. 864 fhs B. 846 faY C. 648 et D. 684 fal E. 395 ¥ FIg 151
42. TH ¢l TAuld fERm & 20 MeUHHs AT @ e dlell 560 HIET ofel Teh @A ol Y

30 Qs H IR T ohd! &1 I§ 39l a8 & S dlof Teh Tolehid & 1 fAee 20 A3
H IR T TohdT gl <o FT dars AT Hifav]

A. 150 #Y B. 130 # C. 145 #r D. 160 #r E. 378 & g ar|

43. 32 HeyAss &Y AT arell T 48 HeyAdhs T a1fa T Fgda fear & 3ma arely 540 #AeX
el Tk gEd ¢ I 15 Ahs H UGN & Weohdl §1 I 25 Wehs H Teh TolchIA &l G &
ohdl &1 Tolehid & dds ATd AT

A. 140 #Hiex B. 180 #Hex C. 260 Hex D. 320 X E. 8 & HIg a0
44, 72 TFei/Eer fr afa T glsa arelr 450 X o&r Ueh ¢of 34T fgom & 54 farsdveer $r aifa
T Tolel aTell AL ¢oT &l 4 fATC # IR & Fhll g1 G ¢ & ofa1s AT Hifav|
A. 620 #Hex B. 750 #Hex C. 480 #Hrex D. 540 #Hex E. 58 ¥ FIg 151




45. o1 ¢ T 1 HAY W HER AR ST § Tolell Y& Hlell ¢ 3N Th g@l &1 3R Fodl g1 oI
g A & o gar T & & T ¢ o q@l ¢oT i Jofalr & 150 fhelr 3T g 7 @ g
SR IR SFH & A T gl 41 g, e Tgelr ¢oT @ I 80 Tehef/Eer § AR qE@lr oA H
aifa 75 fAlaer g2

A. 5640 fRAT B. 5460 f#Y C. 4560 foraT D. 4650 f&#Y  E. SaIH & HIg Igl|

46. ¥ ¢ [AUda fSem H Tordr g, dr 3T OeT Ifad Ueh ST H dolel arell IMfsdl & ATdeT
Iy & QN g ST &1 oAl T oS AR 300 Hied HR 320 HeX gl fawda e & g
W TH-GH A R A 7 ol arT fordr 9 @77 AT Y, If 3¢ v € fGem & 9 &
H 20 AH3 9T g2

A. 8 OFs B. 6 O&s C. 7 Qs D. 9 Qs E. 10 3&s
47. 500 e H oGS el e 50 Fhs H T T d9S ¥ 50% 3H®F €S & TH TchiH Hl

UR Y g1 Ao feRr & ggel ¢ B N aIfd & Telel arell FAE oS B g@d &l @l
IR A & [T 3H ¢oT carT fom arar qay Ad #i|

A. 13 35z B.15§@a‘rs' C.13§@a‘rg D.13§@a‘rs' E. 14 353

48. Ugel TUT W 512 IHET T H Tgd gl Iodsd TUA W MY IE o 3RS & IR s o
I 37T AGT Todr gl Ifg i VAT W 3RS F v 27 H Fad T I s g, O A A
3R ITdeT TAA F T ¢ fohdel TEAAT W FhI?

A. 10 B. 8 C.9 D. 7 E. 398 & g ai|

49. g1 ¢ U dT ods 120 HieX g1 Uoh TIFH H IR I & [T 3e7eh gaRT oI I qAT Fr
3T 2 ¢ 3 § 3N THEH I GR Fe & AT 37 @ AT AT §HT # HAR T A B
dr 9arsT Ifg 3 T gAY @ AT R 7 IR &l § o fhde @AY (A H) deem?

A. 150 Thsd B. 36 Thsq C. 144 a%sH D. 96 ¥z E. 308 & I3 18T
50. o @A s fY & P g Q Audia fear & o WY €1 3¢ SoTel & @ F UR oy A

HHA: 24 Tehs 3R 30 TSRS T AT Idl gl dl TdSY T (ST fohcdel AT H Gl gol
Teh-gEY I IR Y SUaf?

A. 26.67 ¥Us B. 26.33 kvs  C. 27.67 Akvs D. 26.33 Akvg E. 25.33 AHUZ




CORRECT ANSWERS:

1 A 11 D 21 E 31 E 41 C
2 A 12 C 22 D 32 D 42 D
3 C 13 A 23 D 33 B 43 A
4 C 14 E 24 D 34 C 44 B
5 C 15 A 25 D 35 B 45 D
6 C 16 D 26 D 36 A 46 E
7 B 17 C 27 E 37 A 47 D
8 C 18 E 28 C 38 D 438 C
9 B 19 A 29 A 39 C 49 C
10 E 20 D 30 A 40 D 50 A
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Explanations:

1. Let the time travelled in train be 'x' hours
Total distance =62 x6 =12 + 120 x x
= 372=12+120x
=>x=3
So, Ajay walked for (6 —3) = 3 hours

) , Distance covered by walking 12
Walk d of Ajay = =— =4 kmph
alKing speea ot Ajay Time taken by walking 3 mp

Required ratio=4:120=1:30

Hence, option A is correct.

2. Number of chairs in 1%, 2" and 3rd coaches are 30, 20 and 30 respectively.

Total chairs =30 + 20 + 30 = 80

Total occupied chairs in 1st coach = 50% of 30 = 15

Total occupied chairs in 2nd coach = 80% of 20 = 16

Total occupied chairs in 3rd coach = 40% of 30 = 12
15x200+16x150+12 x 300

Average income = =112.5
g 80

Hence, option A is correct.

3. The number of seats in the Special VIP class

15
=600 x 100—90

Then, the number of seats in VIP Class = 600 — 90 =510
During its journey the train was booked to 80% of its capacity.

80
So, the no. of booked seats = 600 x 100 =480

Special VIP class was booked to 70% of its capacity. Then, the number of seats booked in Special VIP
class
70

=90Xﬁ=63

So, the number of booked seats in VIP class = 480 — 63 = 417
~ The number of seats in VIP class which were empty during that journey =510 — 417 = 93.
Hence, option Cis correct.




Since Train A and car both are travelling in same direction,

So effective speed of Train A and car = 66 — 45 =21 km/hr

21><5-3—5m/sec
18 6

Train A and Train B are travelling in opposite direction,

122 x5

So effective speed of Train A and Train B =66 + 56 = 122 km/hr = 13 = Y m/sec
Time taken by Train A to cross the car = % = @
Time taken by Train A to cross Train B = (300 +200) x3 = 900 sec
305 61
Reqd. ratio = ? : % - 122 :35

Hence, option C is correct.

The speed of toy-train be X km/hr

(~ the speed of toy train increases by 1km/pr on moving downwards and decreases by 1km/h while
moving upward)

Speed of toy train while moving down the inclined plain = (X + 1) km/hr
Speed of toy train while moving up the inclined plain = (X — 1) km/hr
A/Q

3(X+1)+3(X-1)=12

X =2km/hr

Distance left to be covered to reach the starting point =Y
Y=3(X+1)-3(X-1)=6km

Time taken =Y/(X - 1) =6/1 = 6hr

Hence, option C is correct.




Let, speed of train B be x km/hr

Then, speed of train A = 2x km/hr

After train A decides to overtake train B, its speed became (2x + 5) km/hr
Relative speed between train A and train B=(2x + 5 —x) = (x + 5) km/hr
Distance between train A and train B = 65 km

Therefore, (x +5) = %

= x =60 km/hr

So, speed of train B =60 km/hr

Distance between train B and train C =265 — 65 =200 km
Relative speed between train B and train C = 60 + 40 = 100 km/hr

. . 200
Required time = 100" 2 hrs
Train B and Train C will meet each other at 5:00 PM

Hence, option C is correct.

According to the question,
the ratio of the speed of the passenger train to that of express trainis 1: 4

the speed of the 180 m long passenger train = x meters per second
then, the speed of the 360 m long express train = 4x meters per second

Then, the relative speed = (x + 4x) = 5x meters per second

We know that,
distance 180+ 360 _ 5x

d=
>pee time 12
540 _
12
45 = 5x
X =9 m/sec

The speed of the express train = 4x =9 x 4 = 36 meters per second
Hence, option B is correct.




Let the time taken by the train = x hours then

According to the question, speed = 2x + 3 km per hour

. distance
Time=—"m"m""
speed
‘= 495
T 2x+3

2x° +3x—495=0

By solving, x = 15 or — 16.5

Negative value is not possible therefore, x = 15 km per hour
The speed of the train = 2x + 3 = 33 km per hour

The time taken by the train to cover 825 km
825
=33 - 25 hours
The required ratio = 25 : 33

Hence, option Cis correct.

In 15 seconds, distance covered by both = relative speed x time
=30x15=450m

Length of Aand B=450m

Length of B=300 m

Length of A=450-300=150m

Required difference =300 — 150 = 150 m

Hence, option B is correct.
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10.

11.

Let p, q be the lengths of the faster and slower trains respectively. When trains are travelling in
opposite directions, relative speed = 54 + 48 = 102 kmph

5
=102 x 18- 28.33 m/s

Distance covered = sum of length of 2 trains=p + g
Then we have,
p+q=12x28.33=340m........ (i)

when trains are travelling in the same direction, since we are given the time noted by a person in the
faster train as 32 seconds the distance covered is equal to the length of the slower train, distance
covered =q

6x5
Relative speed = 54 — 48 = 6 kmph = % =5/3 m/sec
q=(5/3) (32) =53.33 m .......(ii)

From (i) and (ii) we get p = 286.67 m

Length of faster train = 286.67 m
Length of slower train =53.33 m

48 x 5
speed of train = 48 kmph = 1—; =13.33 m/sec
53.33
t= ﬂ = 12 seconds
13.33

Hence, option E is correct.

Since Train A starts 1 hour before Train B, it has already covered 1 x 50 = 50 km.
Now the distance between Train A and Train B is 550 km.

The ratio of distance before meeting point is directly proportional to the speed of the objects

50
Since the ratio of their speeds is 50 =5:6,

the ratio of distance will be 5:6 as well
550x 5

A will travel =250 km

B will travel the rest 300 km

Total distance travelled by A is 300 km and same is that travelled by B. So meeting point is exactly in
the middle that is

? =300 km from Dehradun

Hence, option D is correct.




12.

13.

14.

Speed of Train A = 40 kmph

Speed of Train B = x kmph (Suppose)

Anshu’s absolute speed = 40 + 4 = 44 kmph (since he’s walking in the same direction as the train)
Shiva’s absolute speed = x — 7 kmph (since he’s walking in the opposite direction as the train)
The relative speed = 6

Therefore, 44 + (x—7) =6

x =45 kmph

Hence, option Cis correct.
Total distance covered = 240 + 480 =720 m

5
Speed =72 x 18- 20 m/sec

Dist 720
. Time = e = 36 seconds
Speed 20

Therefore, the train will cross the tunnel in 36 seconds.

Hence, option A is correct.

The respective ratio of original speed and current speed =23 :9
We know that time is inversely proportional to speed

So, the respective ratio of time will become =9 : 23

Let original time = 9x hours

And current time = 23x hours

Difference = 23x — 9x = 14x = 35 hours

45
So, the original time=9x 2.5 = 5 22.5 hours

Since we don’t know the speed so we could not find the speed of the train
Hence, option E is correct.




15.

16.

17.

The total distance travelled by Rajdhani express till 11: PM =96 x 2 =192 Km

Remaining distance = (540 — 192) Km = 348 Km
The relative speed = (96 + 49) = 145 km/hr

348
The time when both train will collide = E = 2.4 hours = 2 hours 24 mins

Time = 11:00 PM + 2 hours 24 minutes = 01: 24 AM

Hence, option A is correct.

Let the trains meet after t hours from 7 : 00 pm
According to the question

3
48><E+48><t=60xt

= 72 =60t — 48t
> 12t=72
>t=6

Required distance = 60 x 6 = 360 Km

Hence, option D is correct.

Speed of the train
=90 km/h =9Ox138= 25 m/s

5
Speed of another train = 108 km/h = 108 x T 30 m/s

Let the length of the train = | metre

According to the question
(I+1)=(25+30)x 3 x60

= 21 =55x180
9900
=>|l=—
2

= | = 4950 metres.
Hence, option (C) is correct.




18. According to the question,

5 D
60 —35) x = = —
( )X 18754

D=375m

Length of the faster train = 375m,
. 4
Length of the slower train = 375 x 5 =300 m

Hence, option E is correct.

19. Letthe length of the train = I'm
And the speed of the train =sm/s
According to the question

|+1=sx50
= 2| =50s

And
| + 450 =s x 60

= 25s + 450 = 60s [putting the value of equation (i)]
= 355 =450

From equation (i)
90
|=25x—
7
=1=321.42m

Hence, option A is correct.




20.

21.

Let the length of the Train19 be x metre.
~ Length of the Train18 = % metre
Speed of Train19 = 126 km/h

5
=126 x 18 m/sec.= 35 m/sec.

Speed of Train18 = 90 km/h = 25 m/sec.

Relative speed = Length of both the Trains/Time taken in crossing

:>(35+25)><9=x+§

= x = 360 metre

~ Reqd. time = Length of Train19 and Platform/Speed of Train19

360 + 550
= —

35 = 26 seconds

Hence, option D is correct.

Length of the train = 320 metre
Average speed of train = 120 km/h
Time taken to cross a bridge = 24 seconds

Dist

Therefore, Speed = w
Time

_ Length of train + Length of bridge 320 + x

- Time - 24

5
=120 x =
*18

5
=120 x = x 24— 320
X *18 "

x =480
A farmer crosses the same bridge in 4 minutes
Speed of the farmer = 480/240 = 2 m/sec

Hence, option E is correct.




22.

23.

Let total distance = 100x km

Total time taken by them = 10 hrs
100X
Speed of the train B = o - 10x km/hr ............ (i)

Let the original speed of the train A = 3S km/hr

Then according to question, he travels, 50x km at the speed of 3s km/hr and 50x km at the speed of 2s
km/hr

Total time he will take = 20x + 20x hr=10 hr
2s  3s

5
5x x —=1, 6s=25x

6s

25x
S==—=
6
25 25

So, his original speed = 3s = ?X X 3= Tka/hr (ii)

25
Ratio of their speed = TX :10x=5:4

Hence, option D is correct.

Total distance to be covered = 550 + 350

900
=900 m = 1000 km.

Relative Speed = 102 — 72 km/hr = 30 km/hr

. . Distance
~ Time taken by train to cross =———
Speed
(900/1000) 9
= = = 1 .
30 hr 300>< (60 x 60) sec = 108sec

Hence, option D is correct.




24.

Let, length of Train 1 = L1, Speed of Train 1 = V1 length of Train 2 = L2, Speed of Train 2 = V2
(All in meter and seconds)
Since they cross each other from opposite side, speeds would be added, and we get

L1 +12
V1+V2

Either V1 or V2 is 90 kmph

the other would be 1.25 x 90 =112.5 kmph

90
22 _ 72 kmph,
°"125 i

But both the speeds should be in integer form, therefore 72 kmph would be accepted.

Now any one of these speeds are 72 kmph and 90 kmph, but speed of Trainl is greater than speed of
Train2, we get

V1 = 90kmph = 25 m/s, V2 = 72 kmph =20 m/s

L1+L2_
25+20

from (1), 10

L1 + L2 = 450......... (2)

The difference between their length is 150 meters, thus
either L2 — L1 =150 --------- (3.1) or L1 -1L2=150(3.2)
Now from (2) and (3.1), we get L1 = 150m and L2 = 300m
And from (2) and (3.2), we get L1 = 300m and L1 = 150m

We see length of one train is twice the other in both cases but we cannot find exact length for each
train.

Hence, option D is correct.
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25.

Let, length of train A and train B be LA and Lg respectively and speed of train A and train b be A and B
respectively

According to the question,
La + Lg

=15
A+B

Also,
Latls _

=75
B-A

Using both the equations, we get,

15 (A+B) =75 (B—A)

15A + 15B =75B - 75A

90A = 60B

B:A=3:2

SO, LAILB=2:3

Given, Lg—La =120

Length of train A =120 x 2 = 240m
And length of train B=120 x 3 =360m

So, using

Latls_

=15
A+B

240 + 360 = 15(A + B)

3
=>600 = 15 (A + EA)

=A=—=16m/s

N[o|8

3
Speed of train B = 3% 16 =24 m/s

240+240x2 720

6 6 =45 seconds

Time taken by train A to pass through the tunnel =

360+360x2 1080

>4 >4 =45 seconds

Time taken by train B to pass through the tunnel =

45 + 45
Therefore, reqd. average = =45 seconds

2

Hence, option D is correct.




26.

27.

In the first race Gattu runs 2000 m while Bantu runs 1900 m. If x and y are the respective speeds of
Gattu and Bantu, then,

y 1900 19

Let z be Bantu’s speed in the second race. Then,

z 3000 30

z 20x30
Theref —=
ere ore,y 19 % 29

20 x 30
< <
19 x 29

11

We can easily eliminate options A, B and C.

12
—<1.1
11

and

15
—=<1.1
13

Option D is the closest.

Hence, option D is correct.

The remaining distance is covered by the train at a speed which increases by 10 km/hr every hour.

: - . 53
And, the time taken to cover the remaining distance = ) hours

8
So, the remaining distance = 40 + 50 + 60 + 70 + 80 + 90 x 9° 380 km

So, the total time taken by the train to cover the entire distance = 8 hours and 54 minutes = 8.9 hours

2
240 +@= 8.9; x=0.15 hours = 9 minutes

+
60 <" 80

Hence, option E is correct.




28.

29.

Let 100 x miles be the distance between Mumbai and Hyderabad.

16 100x 8x
S d of the 1* train = = iles/h
O, speed o e rain 100 X 6 3 mi es/

14 X 100x _ 7x miles/h
1200 5 3

And, speed of the 2" train =

According to the question,

1600 100 x-—1600

8x 7x

3 3
= 1400 = 100x — 1600
= 100x = 3000
=>x=30

7 30
Therefore, speed of the 2" train = ?X =7x P =70 miles/h

Hence, option (C) is correct.

Relative speed =73 + 53 = 126 kmph

= 126x15—8=35 m/s

Total length of the two trains = 18 x 35 = 630 metres
2x  5x

Also length of the two trains = x + 3°3

3
~ Length of the first train = x = 630 x 5= 378 metres
Let the length of the bridge be y metres.
5
Then, 378+y=73><1—8><36=730

or,y=730-378=352m

Hence, option (A) is correct.




30.

31.

Distance between station P and station Q=36 x 6 + 48 x 3 =216 + 144 =360 km
Hence both the trains travel 360 km each to reach their respective destinations.
Total distance travelled by both the trains together = 360 + 360 = 720 km

Hence, option A is correct.

30m
S

5
Speed of Pawan express = 18 x 108 =
Let, length of the platform =xm

And, length of the Toofan express =y m

380+x_

37
30

So,

So, 380 +x=1110

x=1110-380=730

5 m
Speed of Toofan Express = 18 x 90 =25 E

y+730
=42,
So, o5 6
=y+730=1065

=y =1065-730=335m

380+335 715
30+25 55

Therefore, reqd. time = =13 seconds

Hence, option E is correct.
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32. Letthe speed and the length of the train is S and L respectively.

L+ 500
20

L + 800
30

Equating the equations,
L+500 L+800
200 30

L=100

oo 100 + 500
T 20

S =30 m/sec

Now this train crosses stationary train of length 80m

1
Time taken = % = 6 seconds

Hence, option D is correct.

33. The trains are travelling in opposite directions, so speed will be added
Distance = speed x time
Let the length of train be Ly and the length of the bridge be Lg

3Ly (63+51)x48x5
2 18

Ly =1013.33 m = 1013

The train passes the bridge in 66 seconds.

63 x66 x5
L+ lg=———"7"7""
T+Lig 18
Lt + Lg = 1155

Lg =1155-1013
Lg=142m

Hence, option B is correct.




34.

35.

36.

This can be calculated by a formula:

Let the speed of train A and train B be S; and S,.

S5 I
S, T
36 _ 144
S, 196
36_ 36
S, 49
36_6

S, 7

S, =42 km/hr

Hence, option Cis correct.

Speed of the train =300/ 8 =37.5m/s
Distance covered when it crosses a man is 300 m in 10 sec

Relative speed of train and man

300
=10 - 30 m/s

Speed of man =(37.5-30)=7.5m/s

Hence, option B is the correct answer.

Train A took 46 — 25 = 21 sec extra to cross the platform.

168
Speed of train A = o1 8m/s

Length of train A=8 x 25 =200 m

200
Length of train B = ES +168x2=436m

Hence, option A is correct.




37. While crossing the man in 10 seconds, train covers 560m (i.e., it’s length)
While crossing the platform in 60 seconds, train covers it’s length and the length of the platform.

So, 60 — 10 = 50 seconds, these 50 seconds extra are required to cover the platform.

10 seconds - 560 m
560 x 50

50 seconds - 1—0 =2800m

Hence, option A is correct.

38. Let the length of train be L m
Speed = disjcance
time
Distance covered by train in 200 sec = (1200 + L)
1200 + L

Speed = Y500 (i)

Distance covered by train in 120 sec = (600 + L)

600 + L .
Speed = 120 (ii)

Equating equation (1) and (2)
1200+L 600+ L
200 120

= 144000 + 120L = 120000 + 200L

_ 24000

1= =300
80 m

Hence, option D is correct.

39. Speed of the train
=90 km/h=90x%=25 m/s

5
Speed of another train = 108 km/h = 108 x i 30 m/s

Let the length of the train = | metre
According to the question
(1+1)=(25+30)x 3 x60

= 21 =55x180
9900
=>|l=—
2

= | = 4950 metres.
Hence, option (C) is correct.




40.

41.

Let the length of the train = | metre
And the speed of the train =s m/s
According to the question
2l=sx5x60

= | =150s ----- (i)
l=(s—2)x7x60

= 150s = 420s — 840

= 270s = 840

840
=>5=——
270

=s5=3.11m/s

18
=s5=3.11x = 11.2 km/h

Hence, option (D) is correct.

Let they meet after t hours from 5 pm.
According to the question
108 x 2 + (108 +122) xt=1136

= 230t=1136-216

=230t=920
920
St=2—
230

= t =4 hours.
Distance between station A and meeting point =108 x 2 + 108 x 4
=648 km

Hence, option (C) is correct.




42.

43.

Let the length of the train = | metres

And the speed of the train =s m/s

l[+1=5s%80
= 21 =80s
= | =40s ------- (n

| + 560 = (s + 20) x 30
= 560 + | = 305 + 600 ------ (1)

From | and Il

= 560 + 40s = 30s + 600
= 10s =40

=>s=4m/s

From equation (I)

Length of the train=40s=40x4 =160 m

Hence, option D is correct.

Let the length of the train = | meters
And the length of the platform = p meters
According to the question

| +540=(32+48)x15

= 1+540=80x15

= 1=1200-540

= 1=660 m

Now,

660 + P =32 x25

= P =800-660

= P =140 meters.

Hence, option A is correct.




44,

45.

46.

Let the length of another train =Im

5
72 km/h =72 x1—8= 20 m/s

54 km/h=54x1i8= 15 m/s

According to the question
450 + | = (20— 15) x 4 x 60
= 450+1=5x240

= |=1200-450
=|=750m

Hence, option B is correct.

Ratio of distance travelled = Ratio of their speed =80 :75=16: 15

Let distance travelled by them 16x and 15x respectively.

= 16x — 15x = 150 (Given)

= x =150

Distance between Kanpur and Jammu = Sum of distance travelled by both the trains = (16x + 15x) = 31x

=31 x 150 = 4650 km

Hence, option D is correct.

When the trains run in opposite direction, the relative speed is double the relative speed when the

trains run in the same direction.

They take 20 seconds to cross when in the same direction, so the time taken to cross when in opposite
direction will be half of the time taken when in the same direction which will be equal to 20/2 = 10 secs

Hence option E is correct.
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47.

Traditional Method:

Let the speeds of the trains be p and g m/sec. The relative speed when trains are in the opposite
direction be x m/sec.

Total distance covered = 300 + 320 = 620m

When they run in the same direction, relative speed (p — q) is given by

p+q=T0 ....... (ii)

Given that,
p+qg=2x31=62m/sec
by putting values in (2), we get

620
62

=10 sec

Time taken by the trains to cross each other when in opposite direction is 10 seconds.

Hence, option E is correct.

Length of the first train =500 m
Length of the platform = 150% of 500 = 750m

500 + 750
Speed of the first train = — 0 - 25 m/s

Speed of the second train = 180 km/hr
Total distance covered = (500 + 500) m = 1000 m

In the opposite direction, relative speed will be = (25 + 50) m/s =75 m/s

. 1000 1
Time taken = 75 - 13 3 S

Hence, option D is correct.




48.

512
— =256
2

Passengers get down at the 1 station after the source station.

256

- = 128 passengers get down at the 2" station.
128

> - 64 passengers get down at the 3" station.
64

5 = 32 passengers get down at the 4™ station.

2
S5 16 passengers get down at the 5™ station.

16
3= 8 passengers get down at the 6" station.

8

5= 4 passengers get down at the 7" station.
4

5= 2 passengers get down at the 8™ station.
2

-=1

2

passengers get down at the 9™ station and 1 passenger is left for the last station which is the
destination station.

Thus, the train stopped at 9 stations between the source and destination stations.

Hence, option Cis correct.
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49.

50.

Time taken by the first train = 2x sec and the time taken by the second train = 3x sec

The difference between the time take by them to cross a pole = (3x — 2x) = x sec = 60 sec(Given in the
guestion)

Then Speed of first train

Distance 120 60
S1= Time - 2x - 60 m/sec =1 m/sec

Speed of second train

12 4
S2 =—0=—0 m/sec
3x X
40 2
2 ===
S 50 3m/sec

2y, 5
When they travel towards each other then the relative speed = (1 +§) =3 m/sec

5
The time taken to cross each other = (120 + 120) = (5) x t, (Distance = speed x time)

Where t = time
By, solving t = 144 sec

Hence, option Cis correct.

Let the length of each train = x meters

Then the speed of train P = i m/sec
And the speed of train Q = % m/sec

The time taken by them to cross each otheri.e. to travel x + x =2xm = (2—X4 + %) x t

Where t = time

t
2x = —
X (5x+4x)><120

Hence, option A is correct.
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